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7 Student’s diagram of an isosceles trapezm.
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¢) A brief interpretation of the data is expected.
For example,
The age groups with the most people are
11-20 and 41-50.
There are relatively few members aged over 50.
d) Student’s own questions. Ensure questions
are clear, simple, unbiased and relevant.
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7 Student's dzzgram of an 1sosceles triangle,
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€¥ A brief interpretation of the data is expected.

For example,
The age groups with the most people are
41-50 and 61-M.
There are retatively fes members aged
under 40.

d) Student’s own questions. Ensure questions
are clear, simple, unbiased and relevant.



